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1.

IMAT Q14 (2011)

Here, the answer is B.  

The passage states that generally younger drivers are more likely to be killed driving 
than older drivers (higher deaths in the 17 to 24 age group). The passage concludes that 
in order to decrease the number of road accidents and number of people killed by them, 
people should only be allowed to drive once they are 24 years of age or over. Thus, the 
assumption being made is that young drivers were at fault and the cause of these 
accidents. This is summarised in statement B 


Statement A is in incorrect because there is no mention of the legal driving age or 
raising it in the passage.


Statement C is incorrect as well because the passage does not mention the skill of 
drivers and how that is related to the death rate per age group. 


Statement D is incorrect because we cannot assume that young drivers in the 17 to 24 
age group drive dangerously just because the accidents and death rate is the highest in 
this age group. 


Statement E is incorrect because we cannot assume that there are more male than 
female drivers in the 17-24 age group just because male drivers are more likely to be 
killed or seriously injured than young female drivers. 
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2.

IMAT Q26 (2011)

Here, the answer is C.  

The passage states that migratory birds can only fly short distances and so have to fly 
over short distances of water, therefore crossing at the Straits of Gibraltar. The passage 
concludes that in order to preserve some of the rare bird species, wind farms should not 
be built upon the hills surrounding the Straits of Gibraltar. Therefore, the assumption 
being made is that the wind farms will be harmful for migratory birds when they fly over 
this crossing. This is summarised in statement C. 


Statement A is incorrect because this is not the correct assumption between the 
premise and the conclusion. We also cannot assume for this piece of information to be 
correct just from the information that some of these birds are very rare. 


Statement B is incorrect because this does not correctly summarise the assumption 
and is irrelevant to the argument. There is also no mention that wind farms aught to be 
built on hills. 


Statement D is incorrect as we are told specifically that migratory bird species cannot 
fly long distances without resting. This statement therefore contradicts the passage. 


Statement E is incorrect because there is no mention of other wind farms being built.  
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3.

IMAT Q38 (2011)

Here, the answer is B.  

The passage explains that governments bought stock piles in response to advice from 
officials that may have been influenced by pharmaceutical companies. It states that 
pharmaceutical companies benefit from the selling of high quantities of vaccines that 
they produced. Thus the assumption is that this advice given to countries was not 
appropriate as governments are now trying to sell the surplus of stockpile of vaccines 
which were not needed. This is summarised in statement B. 


Statement A is incorrect because we cannot say for certain that the officials were 
influenced by pharmaceutical companies. 


Statement  C is incorrect because this is not relevant to the link between the premise 
and the conclusion. 


Statement D is incorrect because this too does not represent the main assumption 
between the premise and the conclusion. 


Statement E is incorrect because we cannot assume for certain that groups do not 
advise in areas that bear no financial interest to them, just because we are told that 
pharmaceutical companies may have a financial motive. 

http://www.medicmind.co.uk


Identifying an Assumption

IMAT Section 1: Logical Reasoning - Critical Thinking

 4© 2020

4.

IMAT Q4 (2012)

Here, the answer is C.  

The premise of the passage is that TV programmes that feature school environments do 
not portray schools accurately. This includes not emphasising aspects such as studying 
and work required for academic success, coupled with actors that are generally older 
than the school age portraying inaccurate and inappropriate behaviour. The conclusion 
is that ‘broadcasters and producers should try to correct this.’ Therefore, the 
assumption between the premises and conclusion is that it is important to portray 
school life accurately. This is summarised in statement C. 


Statement A is incorrect because this does not support the link between the premise 
and conclusion. There is also no mention of how young people perceive the reality of 
school life versus that portrayed in television. 


Statement B is incorrect because there is no mention that older actors are used due to 
restrictions on young people working in television. 


Statement D is incorrect because we cannot justify demanding the accuracy of a 
programme based on another type of TV programme. This statement also contradicts 
the conclusion and so cannot be the link between that and the premise. 


Statement E is incorrect because there is no mention of this. 
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5.

IMAT Q14 (2012)

Here, the answer is A.  

Premise 1 is that ‘trees benefit from coastal fog which is captured by the trees, causing 
water to drip onto the soil and therefore watering them.’ This is the red highlighted 
sentence.


Premise 2 is that ‘since fog is now 30% less frequent than it was 50 years ago the trees 
will not have this source of water and are therefore likely to begin to die out.’ This is 
shown in the yellow sentence. 


The conclusion is that ‘Global watering is threatening the survival of California’s 
redwoods.’ 


Therefore, the link between the premises and the conclusion is that climate change is 
causing a decrease in coastal fog which is threatening the survival of California’s 
redwoods. This is summarised in statement A. 


Statement B is incorrect because we cannot assume that because there has been a 
30% decrease in fog that there will be a further decline. 


Statement C is incorrect because there is no mention of other tree species and their 
survival under these changed conditions. 


Statement D is incorrect because there is no mention of this. 


Statement E is incorrect because there is too no mention of rainfall decline. 
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6.

IMAT Q20 (2012)

Here, the answer is E.  

The overarching conclusion here is highlighted in yellow, that a society will benefit most 
from training of people who contribute the most to society. Thus, that these subjects 
should be preferentially subsidised and funded in comparison to subjects regarded to as 
hobby subjects such as Classics, Literature and Art. These two premise points to 
support the conclusion are highlighted in blue and red. Therefore, the best suitable 
assumption from the above options is that subjects such as Classics, Literature and Art, 
considered more hobby subjects, which would thus provide little benefit to society 
compared to subjects such as Medicine. This is summarised in statement E. 


Statement A is incorrect because we are told that hobby subjects should not be 
subsidised to the extent that subjects like Medicine and Engineering, as they provide a 
greater benefit to society. 


Statement B is incorrect to say that subjects that provide a benefit to society will cost 
more in terms of education, as this is not mentioned. 


Statement C is irrelevant. 


Statement D is incorrect as it is saying that wealthy societies should give some subsidy 
to hobby subjects. 
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7.

IMAT Q20 (2013)

Here, the answer is A.   

The paragraph discusses the possibility that two year courses may be manageable if 
students have covered content that is supposed to have been covered to get everyone 
to speed in year one. However, it concludes by saying that ‘two year degrees are not 
realistic - certainly not for engineering.’ Therefore, it is correct to assume that since 
degrees such as engineering will not be completed within two years, that the same 
amount of content will be covered annually for the first two years of teaching as a three 
year course. This is summarised in statement A. 


Statement B is incorrect because there is no mention of exams being easier now than 
40 years ago. We just know that few students have attained the level that was attained 
40 years ago. But we do not know that it was because exams were harder or easier. We 
cannot make an assumption off of an assumption.


Statement C, D & E are incorrect be cause there is no mention of such information in 
the text. 
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8.

IMAT Q30 (2013)

Here, the answer is B.  

The conclusion here is highlighted in yellow. It summarises that great nations should be 
ashamed as food was being delivered to isolated communities via trucks rather than via 
helicopters. The premise is that because of these road blocks caused by the 
earthquake, the only practical method was to use helicopters. Therefore, the connection 
between the premise and the conclusion is that great nations had helicopters that they 
could use in the fist week after the earthquake hit Haiti. This is summarised in statement 
B. 


Statement A is incorrect because there is no mention of this in the passage. 


Statement C is incorrect because the text implies that there was not enough food in 
Haiti itself to survive and that they depended on food aid. 


Statement D is incorrect because there is no mention that the images failed to prompt 
relief operations from great nations. This is an assumption based off of an assumption. 


Statement E is incorrect because we cannot assume that the people of Haiti had to 
clear the roads and could do so within a week just because they relied on supply 
deliveries to be done by trucks. 
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9.

IMAT Q4 (2014)

Here, the answer is E.  

The conclusion here is that the easiest rule-of-thumb is the two second rule which can 
be assessed and timed with the saying mentioned in the text. Thus, for the conclusion 
to hold true, it is fair to say that it is assumed that it will not take less than two seconds 
to repeat the saying. This is summarised in statement E. 


Statement A is incorrect because we cannot for certain say that the two second rule will 
avoid all accidents. This is far to definitive to be correct. 


Statement B is incorrect because we are not told what type of car crashes are most 
common. 


Statement C is incorrect because it is irrelevant to the conclusion and the premise. 


Statement D is also incorrect because there is no mention of this in the passage. 
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10.

IMAT Q18 (2014)

Here, the answer is C.  

The passage concludes that nicotine in cigarettes can can also increase the rate of 
blood flow and thus increase the risk of heart disease. The text provides information that 
previously it was understood that carbon monoxide, in cigarettes, was thought to cause 
this as well. Based on this, we can assume that carbon monoxide and nicotine both act 
to increase the risk of heart disease. Therefore, from all of the statements we cannot 
assume that nicotine solely increases the blood flow and that carbon monoxide 
therefore cannot increase the rate of blood flow in the absence of nicotine.  
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11.

IMAT Q7 (2015)

Here, the answer is C .  

The conclusion states that fluoridated water should not be allowed based off of the 
campaign leader’s experiences. These include feelings of apathy and depression as well 
as her two year old son showing autistic tendencies, whilst they were living in areas with 
fluorinated water. Therefore, for the conclusion to hold true that fluoride should not be in 
water, we have to assume that these reported health symptoms were caused by the 
fluoride in the water. Therefore, statement C is correct. 


Statement A is incorrect because we cannot assume that mass medication is wrong 
simply based on the fact that fluoridated water is casted in a negative light in the 
passage and is also an example of mass medication. 


Statement B is incorrect because we also cannot assume that based off of the 
information in the text. 


Statement D & E are not directly relevant to the link between the premise and the 
conclusion. 
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12.

IMAT Q10 (2015)

Here, the answer is A.   

The premise for this passage is that migrating animals in the Artic such as the Caribou, 
may be threatened as their populations are declining, as a result of climate change. It 
then concludes that such fears are unfounded as the great tits bird species in 
Oxfordshire have shown to be capable of adapting to climate change. Thus the 
assumption is that because great tits in Oxfordshire have adapted to changes brought 
about by climate change, that caribous will be able to adapt in the Arctic as well. 


Statement B is incorrect because this is not mentioned in the passage. 


Statement C is incorrect because we cannot assume that because the great tits have 
managed to bring forward the date they lay their eggs by two weeks, that the caribou 
will have to necessarily do the same in order to prevent a decline in their population. 


Statement D & E are also incorrect because there is no mention of this either. 
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13.

IMAT Q9 (2016)

Here, the answer is E.  

The conclusion is highlighted in yellow and states that to learn any additional language, 
exposure to the target language is needed in order to become competent in that 
language rather than studying the grammar of that language. The premise to the 
conclusion is that our first language is acquired rather than learned. Hence the link 
between the premise and the conclusion is that learning a second language is done so 
in the same way that a first language is acquired. 


Statement A is incorrect because there is no mention of the impact of reading has on 
learning an additional language. 


Statement B is incorrect because there is no mention that are fundamentally different to 
each other. 


Statement C is an assumption off an assumption and is therefore incorrect. 


Statement D is incorrect because it is too definitive. We also cannot assume that 
‘exposure to the target language’ means reading the target language. 
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14.

IMAT Q12 (2017)

Here, the answer is A.  

The premise in the passage states that the captain of the national football team has 
been accused of adultery with several women, including one the girlfriends of a former 
teammate. This is highlighted in blue. The conclusion then states that he has been 
suspended from his duties and the team so that the team can have a higher change of 
winning the World Cup. This is highlighted in yellow. Therefore, the assumption is that 
the captains actions were impacting and affecting the team from winning the World Cup. 
Therefore, statement A best summarises the assumption, that the captain’s actions have 
weakened team morale. This could affect the team’s possibility of winning and thus 
suspending him would improve those chances of winning the World Cup. 


Statements B & E are not mentioned in the passage and are also irrelevant to the 
conclusion. 


Statement C is too definitive, as we cannot say for certain that the team will win the 
World Cup if he is fired. The text just states that the chances of winning could increase 
with his removal. 


Statement D is incorrect as it is too definitive. 
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15.

IMAT Q16 (2017)

Here, the answer is C.  

The passage concludes that it is ‘unnecessary for customers to spend money on 
additional insurance services.’ The premise preceding this final conclusion is that 
because of this, banks will cover the costs of fraudulent transactions. Therefore, the link 
between the two is that the bank will only cover costs that are fraudulent related. We 
cannot assume that other types of identity theft would be covered. Therefore, statement 
C is correct.


Statement A is incorrect because we cannot assume that customers would have 
benefited from the banks insurance had their identity been stolen.


Statement B is incorrect because there is no mention of insurance services being made 
widely available in the passage. 


Statement D is incorrect because the text only mentions credit cards being used as an 
example of identity theft. But this does not mean that this is the only example of identity 
theft that customers worry about.


Statement E is incorrect because we cannot assume that because the text discusses 
insurance services that cover fraudulent transactions, that they are not serious. 
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16.

IMAT Q20 (2018)

Here, the answer is A.  

 The passage concludes that computer based learning should be questioned when 
incorporated into all aspects of education. The premise is that excessive use of the 
internet can cause poor educational achievement. Therefore, we have to assume that all 
computer based learning will involve the use of the internet. This is summarised in 
statement A. 


Statement B is incorrect because there is no mention of student internet regulation in 
the text. 


Statement C is incorrect because it does not completely link the premise and the 
conclusion as there is no mention that computer based learning would involve the 
internet, as the text is specifically discussing the negative aspects of internet overuse. 


Statement D is incorrect as there is no mention of a cure in the text and is therefore 
irrelevant. 


Statement E is incorrect as we cannot assume that internet overuse is the only cause of 
poor educational achievement. 
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17.

IMAT Q10 (2019)

Here, the answer is E.  

The conclusion of the passage is highlighted in yellow, whereby the ‘current drop in the marlin 
catch is part of a long-term cycle related to fish migration and food-chain balance.’ The premise 
preceding this conclusion is that when fishing records were analysed they were found that there 
was a significant decrease in the catch over a five year period. Therefore, we have to assume that 
these records are accurate for the conclusion to hold true. This is summarised in statement E. 


Statement A is irrelevant as there is no mention of this. 


Statement B forms part of the evidence (and is therefore stated) rather than an assumption (which 
is not stated). 


Statement C is irrelevant as there is no mention of climate change and how this affects the marlin 
catch. 


Statement D is incorrect because there is no mention of fishing technologies and how this has 
impacted the information on the catch of marlin. 
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